ITI Electrician 1st Year Module 8 Earthing and Illumination system

(1). What is the main advantage of coiled coil lamp? | @Sf@id gi’JSQ'inl Sk He
A H1 8>

(A) High melting point | 3 TTc-Ih
(B) Higher light output | 3= UDIRT ST

(C) Low operating voltage | dH 2l dlce ol
(D) Low power consumption | ¥ faoTelt ot Wud

Correct Answer : B &
QQ/

®

(2). Why the pointer is not stable at zeroon t ‘\f'e as the megger is not in use?

| FTR IugnT H 81 &, e ot -l geop R RR AL E?
(A) Itis not having controlling Torqu@\?ﬂ@ﬁﬁﬁﬁﬁﬁﬁ@%
(B) Provided with air friction dar.m’q%s\gl WW%@"TWﬁ

®
(C) The deflecting torque i ctly proportional to the current | ﬁﬁﬁﬂw
YRT &% JATIAT &
(D) The deflecting torque is directly proportional to the square of the current |

farerer Sremeut 4T % o & JHTET §

Correct Answer : A

(3). Which device provides ignition voltage and act as choke in a HPSV lamp? |

I T IUBRU fTRT dlee sl USH HRdl © 3R T TIUvgat dius | Il &
U N SR Hd1 22

(A) Arctube | WE@_&’
(B) Sodium vapour | GIfSTH aryg




(C) Leak transformer | ﬁﬂﬁm
(D) High pressure aluminium oxide | ﬁmmﬁ'ﬂﬂ s S

Correct Answer : C

(4). What is the unit of luminous efficiency? | WEW@W@CW%?
(A) Lux
(B) Lumen

(C) Lumen/m?

(D) Lumen/watt Q’}’
Correct Answer : D
&‘?

(5). Which is the cold cathode lamp? | aﬁ@z?ﬁﬁqmé?
(A) Halogen lamp | %?ﬁ?ﬂﬁu . Q:\~

R AN
(B) Neon sign lamp | CiLE| Q
(C) Fluorescent lamp | %u
(D) Mercury vapour Ia7'$\ URT 99 oI

Correct Answer : B

(6). How the rate of evaporation in a vacuum bulb is reduced? | éaqqac—dﬁ

Tef{eRR0 P &R HH HY B 2

(A) Filling inert gas | 3HforT T HRAT

(B) Producing arcin bulb | scd H 31 BT I

(C) Reducing filament resistance | aﬁqﬁfraﬁwm
(D) Increasing filament resistance | aﬂmﬂm




Correct Answer : A

(7). Why system earthing is different in utilization than equipment earthing? |
U 31 ot ga | e siff s 3t g2

(A) It protects human only | WWW@?&HW%

(B) It protects from all circuit faults | a‘s'ﬂlﬁtrﬁquaﬁu‘rﬁaam%

(C) Itis associated with current carrying conductors | dg YIR[ dlgh SINEAR:
TS 8

(D) Itis connected to the non current carrying metal wg{'l EI_'E;ﬁT YRTdIgh
Tl § a8 Q

Correct Answer : C Q

(8). Which is proportional for the deflect Qmmeter needle in earth

resistance tester? | q%a‘T mﬂq@ m@%%%mm
3TguTfde §?

(A) Currentin current coil Wﬁ%ﬂﬂ

(B) Currentin potentia@l ﬁlﬂmﬁﬂm
(C) Speed of the handle rotation | %W@hﬁ‘ﬂ%f

(D) Ratio of the current in two coils | ﬁmﬁ YRT pT JUld

Correct Answer : D

(9). Which method is used to reduce earth resistance value in a existing earth? |

Hrolar 3 o I 81 UfaRIY A1 &1 HH B o (oY [ Uil Bl SUINT
G ESIRINE

(A) Increasing the length of electrode | 5€1d’§|6 Pl Q’iﬁll‘ir del-l




(B) Keeping wet condition in earth pits always | %mﬂ%ngﬁsﬁm:ilal fufa
TG

(C) Adding more sand and charcoal in earth pits | TI%ff 3R YT TUTIRBIA
YT

N

(D) Increasing the diameter of earth electrode | H\‘é@idgls DI AN dell

Correct Answer : B

(10). What is the expansion of ECC? | ECC &7 fasdR ST 87

(A) Earth Conductor Continuity

(B) Earth Continuity Conductor
(C) Earth Carrying Conductor \.
(D) Earth Continuity Cable @*
Correct Answer : B Q:\:b

(A) MAT type MV lamp | MAT U®R MV &0

(B) HP metal halide lamp | Qﬂﬂlﬂma'q

(C) MB type HPMV lamp | MB UPHR HPMV G0



(D) MA type HPMV lamp | MA TR HPMV GldH

Correct Answer : D

(12). How the earth resistance can be reduced? | qﬁ%qﬁﬁuﬁﬁwm

W1 ghdl g2

(A) Providing double earthing | Ei|6€| 3{ffT U™ AT

(B) Reducing the pit depth for earthing | Gfﬁﬁ[%ﬁ'lﬁ‘l% ﬁusel:—{ P H hRA]

(C) Increasing the length of the electrodes | 5810@6 Pl Q’IJ-GIISr del-l

(D) Decreasing the length of the electrodes | 5@10@6 w*dl‘;‘: Y-l

Correct Answer : A

&

(13). What is the current carrying capacit sher, if the current is 100 mA in
each row? | TIZR B G HI a8 g, Ufe ude Ufdd § #ie 100 mA
&? X\
So R,
M NS et N St
AN N AN SN
34 83 Ry
L o— ™ L oo, Ser Ngm NS Nt
AN AN AN N
S 4 Ry
L s et N e NS Bt
AN SN 2N SN
N o

(A) 50 mA




(B) 100 mA
(C) 200 mA
(D) 300 mA

Correct Answer : D

(14). What is the name of light? | WWWW%?

7

N Q’}v
g

(A) Spot light | Tic ATZC 'b®

(B) Bulk light | fa¥gd J=rt \\“

(C) Flood light | Udis dlIgc @

(D) Flash light | q%?zra@
Q

Correct Answer : A

(15). How stroboscopic effect in industrial twin tube light fitting is reduced? |

MNP < oF g e BT & Wi it UHT H3 HH Bl 82

(A) Connecting capacitor parallel to supply | et &t W%Wf{
TSI =T

(B) Connecting capacitor in series with supply | e B S{Hﬁ% i H
GIST =T

(C) Connecting capacitor in series with one tube light | TR DI Udh RdIgC

& it H Taiford BT




(D) Connecting two capacitors in series to each tube light | YT Bl TP
R[EATSC & YU T ST BT

Correct Answer : C

(16). Why fluorescent lamp ends are blackening? | TIRNIE dU & RN o1 )
R

(A) Low gas pressure | &H Y BT <aTd
(B) Burnt out choke | WE"HE&H
(C) Burnt out starter | TR Y g3l &

(D) Heat of electrodes | sﬁa%j‘s'ﬁﬂﬁf Q

Correct Answer : D *

(17). What is the effect if a personr Vga shock current of 20 mA? | U%W
fad Bl 20 mAWWWW& WUWUS?IT%?

(A) No sensation | #W
(B) Painful shock |

(C) Heart convulsions | SHTTd

(D) Become unconscious | é@m él:ll

Correct Answer : B

(18). What will happen to the value of earth resistance if length of the earth pipe

is increased? | Ife 3f UTSU &1 daTs ¢ Wl @, dl 314 & UfeRiYy & A ST
HIT?

(A) Remain same | GTI'FR;@'
(B) Increases | a%}il



(C) Decreases | e
(D) Infinity | SH~ddI

Correct Answer : C

(19). What is the minimum size of copper earth continuity conductor used in
single phase domestic wiring as per BIS? | @m% S{JHR Uh o] <R ‘cI\QQ'j_\
AR H e 31 fFARARdT e e BT LAaH STHR FT 62

(A) 3Sg.mm

(B) 3.5Sg.mm
(C) 2.5Sg.mm Qé}’

(D) 1.5Sg.mm

Correct Answer : D @&\‘
e

(20). What is the function of curre }gérser in earth resistance tester? | 31’1]:
OfoRTY Uiersh | YR IchHh §ﬁ R 5?

(A) Converts A.C. into D.(@ PID.C. ﬁqﬁaﬁam%
(B) Reverses the polam%f D.C| D.C &t Wﬁ Jdc é_CIT%
(C) Changes D.C. supply into A.C supply | D.C \’rﬂ'q;ﬁﬁ A.C S{Hﬁﬁw

(D) Reverses the direction of rotation of the generator | S i QLJ-I:I Pl fam
EENEI

Correct Answer : C

®

(21). What is the function of leak transformer in high pressure sodium vapour
lamp circuit? | 3 G1d NISTH I o IRTY H ¢l SRIBIHR BT F1 61 87

(A) Reduce the starting current | LI YRT Y I




(B) Reduce the working voltage | HRIBR] dleesl B Il

(C) Increase the working voltage | FRIBR] dleesl B dell
(D) Ignite the high voltage initially | URY H 3 dices &l ol

Correct Answer : D

(22). Which type of light fitting has glare effect? | fPgupR &t NIE i |
TR 3Whde BIdT 87

(A) Semi direct type | 31 T UBR
(B) Semiindirect type | 31} I UBR \

(C) Direct lighting type | Y& UDBIR YD R

(D) Indirect lighting type | IU& UDIX] !«I@

Correct Answer : C

(23). What is the S.I unit of lum %c\'ntensny? | éﬂﬁmﬂﬁ?ﬂaﬁﬁﬂ WI'FEW
s $$

(A) Lux $

(B) Lumen

(C) Candela

(D) Steradian

Correct Answer : C

(24). Which term refers that the luminous flux reaching a plane surface

perpendicularly per unit area? | &1 9T Xeg I8 ST %%WWU&[
3T &7 H daad U ¥ U YHAd Ude db Ugddl g2

(A) Lumen | ?j,'ﬁ:f




(B) Hluminance | sqiﬁﬁﬁ

(C) Luminous flux | dHd IR Udlg
(D) Luminous intensity | JHHGR diddl

Correct Answer : B

(25). Which wiring installation the System earthing is to be done? | R aifdf

& fore I RITOAT & forg fpar ST 82

(A) Substations | SUHZK

(B) Godown wiring | TTard arafa X,
(C) Domestic wiring | ¢ AR QQ’

. ®
(D) Commercial wiring | TqTh arafT &\'
Correct Answer : A tb®



